Precalculus Rational Functions ; Notes
#) Cﬂ“élph the rational JEuna":"iOt’l below.
N

| - X

Sx)=

60\ U‘H on

Sjccp'#l = Find the X']ﬂ‘\lﬁi‘CEP{s i+ Ji:‘ne)/ Cx'isjt

Let  $)= O because on the )(wf\)(isj Fx)=0

WEox —2 = (1=X)-0 cross mulfiply
b)/ (l—X\

X=X =2 =0

Teacher= M, Joshua Davis
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) -

X=X -2 =0

IS easil)/ factorable.

X =X -2= (x+)(x2)=0

The zeros or X-omjtcircep%é of F(x) are:

@,0)  and (2,0

Teacher= Mn. Jos%ua Davis
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| Preca\cu‘w? F)&Jt'ionﬂi Funclc?ons X No{-es
) s{ep#aé Find the y-i‘njtercerts it Jt\ne)/
exist
Let =0

50 the Y—injfercepjf 19 ('O,-a)

5{ep#5=> Vertical Asympfo{es
The vertical &sy'mpjtojre 1S delterm‘ined b)/ the

po\ynom'?al or pol')/nom'fals in the denom: najfor.

NOTE! 1 = The denomi’ﬂaer may ﬂO‘k be (i(lud‘

to zero.

Te.dc:her=> Mr J os\wd Davis
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i LeT X
| -X=0
X = +X
| = X

X=1 is the verticd dsympjtojte.

sjcep* 4 slant Prsympjfojte

Since the power of the )ec’ldinq term in the
numerator is Srea{er Pran the power ok the leading
term in J[he denomindltor‘, d slanlr dsympjtoﬂi

existe.

Teac\ner=> M Jos\wua Davis &
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H S"EEP*'—IT, slant Asympjro{e

we will use lonﬂ division and limits o determine

the slant dsy mpfoﬁf.

X
X 41| X —x 2
-(xX"-x)
=
S0
X o= X=2. _ .
=x | —X
X—> + 0 = _ >0

>/= —X 15 the slant &sympirofcz.

Tegcher—> M Joshua Davis
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¥

6juzp#5% Determine the behavior of f£x) as

s X valees 3&9{ microscop?call)/ close o X=1,

As the X values &pproach | trom the |efE or from the

Numbers, we have the following symbo\?::m:

X — |

we choose  X= 0,9999

(X+ N (x=2)
=X

=

~(0.9999 4)) (0.9999-2)
_5'(0.9%%: 0.9999 —|

Teacher= Mr, Joshua Davis
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¥

(-)
}(anqqu = '—(:3—: (—)

30,

S)— —00 ds X— |

Teacher%s Mr. Joshua Davis
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we will now examine the behavior of 5X) as

its X valves approdch the \;@r{ica\ as)/mPJtoJce. =1
from the rig\rﬁ[ or from the posifive numbers,
we have the wtol'\owinﬂ 5>/mbo\'i5mi

+
X— |

we choose the value X= 1,00001|

O (x-2)
Fx)= X

( 1.0000 1 +1)(1.00001-2)
( 1-1.00001)

}(loOOOOI) =

Teacher=> Mr, Jos\w& Davis
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#)

(=)
F(l.o000l) = O = +)

we Ynow the %HO.anﬂZ

. +
Sx)—> +0  as Xx— |

Tegcher=> Mi Joshua Davis
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We CANn Now UsSe this “m’%ormajfion to c:onsjtruc{‘a

Precalculus

(jenera\ grdph o} Hhis Function.

Teacher= Mr Jos\rwua Davis




